Gases

Class

Which graph best represents the variation in the
vapor pressure of water as temperature changes?
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A 2.00-liter sample of a gas has a mass of
1.80 grams at STP. What is the density, in
grams per liter, of this gas at STP?
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[N

What is the total number of neon atoms
contained in 20.2 grams of neon gas?

What is the total number of moles of
oxygen atoms in 1 mole of N,0,?
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number, the van der Waals forces
between the atoms in a given
sample of each of these gases

A decréase

B [edge.

C e Bame

Stand Iperature and-a jiressute
of 0.5 atmosphel

are equal to

A 0°C and 380 torr
B 32°C and 380 torr
€ 0°C and 760 torr
D 32°C and 760 torr

behave most like an ideal gas?

A 0°C and 100 kPa

B 300 kPa

C 150°C ynd| Y00 %Pg

D 150°C apd/308 kRa { :
g

At $ TP, 3% 104 molccules of SBm
occupy the same volume as

A 1 mole of H,(g)
B 6 x 10%° molecules of H,(g)

€ 0.5 mole of H,(q)
D 4 grams of H,(g)
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Which graph best represents the variation in the
vapor pressure of water as temperature changes?
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A 2.00-liter sample of a gas has a mass of
1.80 grams at STP. What is the density, in
grams per liter, of this gas at STP?
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What is the total number of neon atoms
contained in 20.2 grams of neon gas?
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What is the total number of moles of
oxygen atoms in 1 mole of N,0,?
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number, the van der Waals forces
between the atoms in a given
sample of each of these gases

A decréase

B [edge.

C e Bame

Stand Iperature and-a jiressute
of 0.5 atmosphel

are equal to

A 0°C and 380 torr
B 32°C and 380 torr
€ 0°C and 760 torr
D 32°C and 760 torr

behave most like an ideal gas?

A 0°C and 100 kPa

B 300 kPa

C 130°C mnd| 100k Pg

D ) pd/300 kRa -
ag

At $ TP, 3% 104 molccules of SBm
occupy the same volume as

A 1 male of Hy(g)
B 6 x 1023 molecules of H,(g) @
€ 0.5 mole of Hy(q)

D 4 grams of H,(g)
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